Chapter 6 Homework
1. Write the electron configuration of the following ions:

a. Li+
b. H-
c. N3-
d. F-
e. S2-
f. Al3+
g. Se2-
h. Sn2+
i. Ba2+
j. Pb2+
k. In3+
l. Tl+
m. Sc3+
n. Cr3+
o. Ti4+
p. Ag+
q. Au+
r. Au3+
2. List the following in order of increasing ionic radius:

a. N3- , Na+, F-, Mg2+,O2-
b. B-, C, O2+
c. Sc3+, Cl-, P3-, Ca2+, K+, S2-
3. Arrange the following in order of increasing ionization energy:

a. Na, Cl, Al, S, Cs

b. F, K, P, Ca, Ne

c. S, Fr, Ca, F

4. Which atom, in each of the following groups, would have the highest 3rd ionization energy?

a. Sc, Cl, Ca, K

b. Al, O, N, Mg

5. Arrange the following in decreasing electron affinity (more negative to more positive)

a. Li, Na, K
b. F, Cl, Br, I

c. Na, Si, S, Cl

6. Arrange the following species in isoelectronic pairs:

a. O+, Ar, S2-, Ne, Zn, Cs+, N3-, As3+, N, Xe

7. Specify which compound in the following pairs of ionic compounds has the higher lattice energy.

a. KCl, MgO

b. LiF, LiBr

	8. 
	Select the compound with the highest (i.e., most negative) lattice energy. 


	A.  
	CaS(s)


	B.  
	BaO(s)


	C.  
	NaI(s)


	D.  
	LiBr(s)


	E.  
	MgO(s)


	9. 
	Select the compound with the lowest (i.e., least negative) lattice energy. 


	A.  
	CsBr(s)


	B.  
	NaCl(s)


	C.  
	SrO(s)


	D.  
	CaO(s)


	E.  
	KBr(s)


	10. 
	Select the correct set of quantum numbers (n, l, ml, ms) for the first electron removed in the formation of a cation for strontium, Sr. 


	A.  
	5, 1 , 0, -½


	B.  
	5, 1, 0, ½


	C.  
	5, 0, 1, ½


	D.  
	5, 1, 1, ½


	E.  
	5, 0, 0, -½


	11. 
	Consider the set of isoelectronic atoms and ions A2-, B-, C, D+, and E2+. Which arrangement of relative radii is correct? 


	A.  
	A2- > B- > C > D+ > E2+


	B.  
	E2+ > D+ > C > B- > A2-


	C.  
	A2- > B- > C < D+ < E2+


	D.  
	A2- < B- < C > D+ > E2+


	E.  
	None of these is correct.


	12. 
	What is the correct order of decreasing size of the following ions?
 


	A.  
	P3- > Cl- > K+ > Ca2+


	B.  
	Ca2+ > K+ > Cl- > P3-


	C.  
	K+ > Cl- > Ca2+ > P3-


	D.  
	K+ > Cl- > P3- > Ca2+


	E.  
	None of these is correct.


13. Give a valid set of quantum numbers for the first electron removed from:

a. Potassium

b. Zinc

c. Aluminum

